-0C N{BAJSIUI A JZEYORU 8S BlOUPOY [UBep| "%0| pod INousapy Bjgwau Aq ajejezen 0jo40} 8gAA - Jodsn yoluzoaoad xapu|

"%GZ Inouyesayd ejpwau Ag ejoupoy - Aqzn|s 9Aoynjp [93ezedn

"9202 N304 92U Op YoI$AA yojujueisuoy A Auaoelds nopnq - A19An aqopoynolq

1 4% 74 8622 (%) Jodsn yoiuzonoid xapu| Zd+LdilAed+Ld
90, t4 A (%) AQzn|s Aoyn|p |91eZRYN Ayouns (FA+EA)H/d
00°096 S¥2 | 00°98Z SS¢C | e0zn|s eAoyn|q Ao+ (PA+EA
00'00 9€9 21 00°04€ 2.€ L1 BuUpep ez eaoyniq d|
0000+ 0£2 2 00°0L€ 996 (fopaysia Ayssepodsoy) eujdn opjes 4-A-d
00'000 951 | 00‘000 9S1 | way |92 jupAodueuly ofepAA (PA+ENS
00000 96} | 00°000 9G1 | yoAgopoynolp nigan Axyyelds vA
000 00°0 yoiqopoxies nigan Axeids EN
00°0 000 w829 JueAodueuly Awlag (9d+5d) m_
000 000 @qopoynolp Aigan eliid 9d|
000 000 (nxoJ | op) qoposesy Aigan gjellid od
INYAODNVNIL
00°00% 98¢ ¥ 00028 22L ¥ op/es 1UZoAOId ZAEd 299 Ad
00°00% 98¢ & 000/ 221 € opjes Ad
00000 0SZ ¥i 00'000 0SZ ¥1 woy|ed ofepAA Z+IA
00'000 000 L 00°000 000 | alepAA (juQiiseaul) 9aoeldey|gepiL ZN
00000 0SZ €1 00000 052 €1 alepAA (JuusaAuIBu) suzag|sepuL LA
ArvaaA
00°00% 9€9 LI 00°0.€ Z.2¢ LI wa)199 Awlud vzeld
00'000 0/} 00°000 0/ 1 YeJZA JuQejop Iynos-acejop gjellid|vepul vd|
00°0 000 Awllpyd anojendeyy|cepnL £d|
00°00¥ 99¥ /1 0002 202 21 Awlyd suzeg Zd+id
00°000 000 ¥ 00'000 000 ¥ Awliid gaoyepspn|zepul zd
00'00% 997 €1 00'0.€ 20Z €1 Awld enoueq]|iepul Ld|
ANCRId
1A gLozqod | (A /L0Z ol

8102 € L1L0Z o4 Bu JDIAOTIM 3090 A3THAA AAOLD0OdZON



